R510X

WORK-SUARE
by Remeste
RECYCLED ACTION OVERALL
WITH ZIP FRONT

recycled

A exceptional value overall made from recyeled polyester; a durable
practical garment with numerous pockets § full back elasticatio

Origin: China Commodity Code: 6211339000

Tech: Breathable, Windproof Fabric: 270gm2 100% Recycled Polyester twill

Q g Q 82 (equivalent 1llitre plastic bottles)

Features & USP: 2-way YKK zip with outer storm flap
Hip pockets with wide side access
Patch and zip back pockets

Back elasticised waistband

Open cuffs and ankles

Bar tack stress points

Tough & hardwearing

Gusseted back panel

Stud fastened collar

Sleeve pen pocket

Chest zip pocket

Ruler pocket

Hang loop

Unlined

Made from highest quality sustainable yarns
using 100% post-consumer PET recycled
plastic bottles offering a sustainable equivalent
to conventional yarns

e End of life recyclable

READY TO
BRAND

HEB‘;GLABI.E

Sizes Body S M L XL 2XL 3XL*
UK 37 40 43 46 49 52
EURO 48 50 54 56 60 62
Sizes Trouser (leg length S-M 31”/L-3XL 32”)
UK inches 32 34 36 38 40 42
UK cm 84 86 91 96 102 107
EURO 48 50 52 54 56 58
FR 40 42/44 46 48 50 52/54
Wash Instruction: @ Colours:

K Ea NAVY (533) BLACK (BLK) BOTTLE GREEN (3305)

Decoration:

Embroidery, Transfer Print, Direct Print, DTF

Carton Qty: 10/5* Pack Qty: 5 SKU: 18
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Date: 02 March 2021

Measures in CMS

R510X - WORKGUARD RECYCLED
ACTION OVERALLS with ZIP FRONT.

SIZES s | m | L | x| o2x|3x
JACKET UK INCHES 37 | 40 | 43 | 46 | 49 | 52
JACKET EURO 48 | 50 | 54 | 56 | 60 | 62
TOFIT
APS'TZRISX TROUSER UK INCHES 32 | 34 | 36 | 38 | 40 | 42 |TOLH-
Trousers UK cm 84 86 91 96 102 | 107
TROUSERS EURO 48 | 50 | 52 | 54 | 56 | 58
TROUSERS FR 40 |42/44| 46 | 48 | 50 |52/54
1/2 CHEST - 2.5cms BELOW

A ARMHOLE 57 62 67 72 77 82 1.0
SLEEVE LENGTH FROM

B SHOULDER SEAM 58 60 62 64 66 68 1.0
INSIDE LEG LENGTH FROM

c CROTCH SEAM TO HEM 9 9 62 £z £z £z sy

D BACK LENGTH FROM NECK 52 53 54 55 56 57 1.0

SEAM TO WAIST
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